_ SECTION 3 | Test 4

Schofield & Sims Mental Arithmetic 6 Answers

4+ Write down the difference PrestoPrint — Online price list 1 Write down the remainder when The diagram shows a plan of Mountjoy Park. The gridlines
hetween 308 and 803. 455 — — 85 is divided by 9. r 4 are spaced 1cm apart.
_ _ Printing | No. of Finish | Cost Cost of | Extra Total I I . e
2 45+((3x3)+{2x 3= = pictures per prints | setof {costof 2 453 x3N+(2x3)= _ 11 Main gate
ite in digi il print prints | order : ‘ e
3 Wrnte in digits one millicn, s P — — 3 27 = 3% Find x. 3 |
thirty thousand and seven. 1 Q30 a07 6 x4 45 Gloss | £0.11 | £5.28 | £2.50 | £7.73 - Café
‘4 Arrange in descending order: 6 x4 &0 | Matt | £014 | £8.40 | £2.50 | £5.40 _ 4 Divide 300 in the ratic 1:5. =0 L 250 Lo
8 ] : ! - LA
0.81, %, 108,018 108 > 081 > 1w > 08 17x5 24 | Gloss | £016 | £3.84 | £2.50 | £8.34 : 5 Add 20% of 30 10 40% of 50. - 26 - Swings
5 Divide 192 in the ratio 3:5. 72 120 17x5 36 Matt | £019 | £6.34 | £250 | £11.84 ; 6 8:025< R ‘ SRR
‘& 48+ 8= - RS 85x%x6 3G Gloss | £0.23 | £8.28 £2.50 | £8.28 R
os 7 (05%0.2)+(05+0.2)= 26
27 BEx0d = . Eiy 85x6 25 Matt | £0.28 | £7.28 £2.50 | £7.78 i
'8 Write 4703 correct to one Total cost of printing | £52.42 8 Round9.397
significant figure. RGN0 : a 1o 2 decimal places a 1000 ;
9 5< X240 Trye or false? true Al has started adding his order to the form above. b to 2 significant figures. b 10
10 ifa=>5 b =3, find the value of b° - &, 2 1 How many pictures is Ali 9 5<% <10 True or false? s
Iyz = = sending to PrestoPrint? 34 _ :
1 oax=125 s0x= 5 g 10 fh=2k=3 findthe
12 Write the next twe terms ' 2 Does Ali want matt or gloss finish? glass value of hk? + k. SR A0
of the sequence. ‘
111 1 1 ] ] i : 1M1 2k-5=k sok = i
3 2.8 it 32 3 What size prints does Ali want? Foxh e !
: 12 List those numbers (except 1) that are ;
-4 How much will Ali pay for an factors of both 18 and 3C. 3 |
extra set of grints? £2.50 Seale 7 - 1000
1 If 500 marshmallows cost £12.50 how . : .
many marshmallows do | get for £1? an 5 I Ali has two extra sets of prints 7 1 What distance in metres is represented
2 lexchange £220 into E t what will be the total cost of 1 | buy three ice-cream sundaes for by 7cm on the plan? 10m
e into Euros a ; 5w . . ‘
13 Eurog to £1. How many his order? f2.84 - : gz.ao eafch. How much change 2. Estimate the area used for the swings. &00m?2
) ' ' o E o | get from £107 £1.64 ‘ .
Furcs do | get? €255 _ Evie wants 96 pictures printad. She wants 60 6 x 4 matt . . . 3 Estimate the area used for crazy golf. 1000m?
3 90cm is approximately _ lyd  prints, 36 8.5 x 6 gloss prints and she does not want any 2 A f15(f bi;yc(;eﬂl]s reduced by 12% 1o 4 Estimate the area of the office, 160m?
i i1l in Evia’ in a sate. Find the new price. 152
4 9.6km is approximately _ % miles extra prints. fill in Evie’s order on the form above. 5 Estimate the area of the pond to the |
. L ‘ _ 80in is imatel Z 2. (Hint: |
5 Change 18 minutes to midnight 6 What will it cost Evie for 3 N 15 2pprox Y “m nearest 100m?. (Hint: count part
ta 24-hour clock notation 2342 her & x 4 prints? £8.44 - squares egual to half or more as full
: e 2342 x4 prints: G.A 4 1g= Heimyg squares and ignore squares iess |
‘ S 0me |
6 How far does a _plane ﬂymg at N 7 What wil it cost Evie for 5 How many minutes in one day? 1440min than half.) t300m i
720km/h travel in 65min? 7Bikm . |
her 8.5 x 6 prints? £8.28 - 6 If the pond has a mean depth of |
7 Two angles in an isosceles triangle are 6 How long will ‘t;‘;"ke to travel ) o 60cm estimate the volume of water |
each double the size of the third angle. N 8 What is the total cost 84km at 48km/h: lh 45min to the nearest 100m?. 800m?
What is the size of the third angle? = of Evie's order? £16.68 7 Find the area of a circle whose 7 Estimate to the nearest 10m the
8 These are similar shapes. Find the scale radius is 10mm, length of the path around the pond. 130m
factor of enlargement. 15 Jack wants 48 gloss prints at 6 x 4 and an extra set df these. T ~ . ‘ |
He also wants 26 matt prints at 8.5 x 6 with no extra set and E Fdmm? 8 Estimate the diameter of the .
‘ . o ; flower bed. 20m |
36 matt prints at 7 x 5 with two extra sets. Fill in Jack’s order g O s th £ |
6cm on the form above. DI ; centre of the 9 Estimate-the area of the flower bed
4em circle, what size o to the nearest 100m?. 300m?
5 What will it cost Jack for his 6 x 4 's angle x? 40 \ - - 1
% hat will it cost Jack for IS? p . 10 Estimate the width of the straight ;
- 9. What is the order of prints including his extra set: £7.78 paths. (Hint: look carefully at the paths ‘
L ' rotational sv - , near the café and the crazy golf.} 4am |
% this sha esaygnmtetry of 10 What wilt it cost Jack for his 3 What is the number , |
%\?f : \ p? ou . 7 x 5 prints including his extra sets?  £11.84 of axes of symmetry 11 Estimate to the nearest 10m the total |
. 'ts centre: : “ of this road sign? o length of the straight paths. 170m |
e } 11 What is the total cost of Jack’s order? £25.90 12 Estimate to the nearest 10m the | ‘
10 Five boxes have a mass of 2925¢ each. _ distance along paths by the ‘ |
Find the total mass to the 12 What is the total cost of 10 Approximate 12b 130z to the shortest route from the main gate -
nearest kilogram. 15kg printing all the picturas? £52.47 nearest stcne. st to the flower bed. 160m \




